EARAROBEEIERT — 2 N— IBISH —F

20155E3H4H (k) 21E%H#2H

mo CLE (hRizm) H5FR3m%K ‘ (X ‘ (3ekpsh]  — | & () 14000 R&
[A&4£] 1% :370,000 ™ ~ 23#%:93,000 ™  33%&:37,000 M 437 :23,000MH .~ 57&:15,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 3 # 3 | =R 1:28.6 4-3-1-1 [38.0| — 1 470 | KREBZ (hR)
1lzl7|F7HZ%a0> 56.0 ) (20) |BRL=Y27957
LA avR—F— BiAFITE)-—X pNCEe
= g 4 3 | MRS 1:29.4 7-6-2-2 [38.3| — 5 464 | DNAE (hsk)
2|8l | AT AINTR=-A 56.0 () (-4 |HimRockRacing
A :Footstepsinthesand &:7U—>714 X2 Mr N. Tsurumi
S it 3 | EHEE 1:29.5 1-1-3-3 | 38.5| — 4 494 | FEE= ()
3 6|l 77V T 7T 54.0 (1/2) (-14) | FEIEBAKHE
LiZEgFa—FTUNTF 4 B:TUIH— 3 & HAEAKS
# 3 | RINARI 1:29.7 5-5-5-5 | 38.5| — 6 555 | BEFEH (hR)
4 3|\ NTIIT AT — 56.0 (1 1/2) ) | @ H 1a-Ke-var
R:viNygLHT1 Bh:vv/4—-05 &% B
R 4 3 | AERH 1:30.3 6-7-6-6 |38.6| — 2 4 | HEBET (PR)
5|11 77>R747 5.0 3 oy |
RixF1=Fr—2 B:XA—RFJYRU=F =S
o 4 3 | tEEdE 1:30.9 2-2-4-4 [ 39.9| — 7 412 | BER (SHR)
6/8/10 ¥ T~Y 54.0 3 o |ENEZ
L:Tv AT yh— B:xhORUZY pu e}
“ i3 | MK 1:31.2 3-4-6-7 |39.8| — 3 425 | JIIUBBLE (5£H4)
] 4 V) U_/\rjx 54.0 (11/2) +1) A+t REA
¥/ 3% B:XT7Z— AL
D1l & 7 S/ #EEZ 131, -8-8- . - IR (%HR)
gl7ls PPV 4 3 gﬁ.oﬁ 1(311)4 8-8-8-7 |39.0 9 (3_941) e A
L:77NMTZT B:AJUOTCX Y2 ris
N . 3 | KEEE 1:31.7 10-10-9- 8| — 482 | REEE (S£12)
9 2 | BYTXREL YD g 56.0 (1 31/2) 01099 | 38.8 8 (_82) popmei i
LY LIAN—F BiFLIALTLR Bl e
o p = B 3 | BHEN 1:32.4 9-9-10-10 | 39.3 | — 10 | 431 | EEEEEL (S242)
10/ 515 AEHT LA X 54.0 3) *+2) fllPN
LB THhT— B:Ta-ToAr EARS
® 1—F—@EBIERL
1T=7r= 6,10,4,7,3,1,9,8,5,2
2a=5F= 6,10,7,4,3,9,1,8,5,2
30—4— 7,9,6,10,3,(1,4),8,2,5
43—4— |7,9,6,10,3,1,(4,8),2,5
[ N5
B 7 180M4 714K 7-9 330 e E 7-8 460M JEE 6-7-9
B B 7 130H4 6-7 360M B = 7-9 740 EE 7-9-6 3,390
9 220M 6-9 760M B H 7-9 1,140
6 1809

ABICOVWTRDTEEERROODE. TR LIV,




